

A Remark on Steinness***

Chaohui ZHOU* Zhihua CHEN**

Abstract In this paper, the authors prove that if M^n is a complete noncompact Kähler manifold with a pole p , and its holomorphic bisectional curvature is asymptotically non-negative to p , then it is a Stein manifold.

Keywords Holomorphic bisectional curvature, Plurisubharmonic, Smooth, Exhausting
2000 MR Subject Classification 58G11

1 Introduction

Recently, Ni and Tam proved (see [1]):

Theorem 1.1 *Let M^n be a complete noncompact Kähler manifold with nonnegative holomorphic bisectional curvature. Suppose that M has a pole. Then M is Stein.*

Now we use elementary method to improve above theorem, that is,

Theorem 1.2 *Let M^n be a complete noncompact Kähler manifold with a pole p , its bisectional curvature is asymptotically nonnegative to p , then it is Stein.*

Remark 1.1 In fact, Theorem 1.2 is held under the bisectional curvature $\geq -\frac{k}{r^2(p,x)}$.

2 Preliminary

Before we prove the theorem, we shall give some definitions and a lemma.

Definition 2.1 *We say that the bisectional curvature is asymptotically nonnegative if*

$$\text{bi } K_M(x) \geq -\lambda(r(x)),$$

where $\lambda(\cdot)$ is a nonnegative and nonincreasing function on $[0, +\infty)$ and

$$\int_0^\infty r\lambda(r)dr < +\infty, \quad r(x) = \text{dist}(p, x)$$

and p is a fixed point in M .

Definition 2.2 *If there exists $p \in M$, such that the exponential mapping $\exp_p : M_p \rightarrow M$ is a diffeomorphism, then we say M has a pole p .*

Manuscript received October 14, 2005. Revised March 27, 2006. Published online March 5, 2007.

*Department of Applied Mathematics, Tongji University, Shanghai 200092, China.

E-mail: zhxzhchh@sina.com

**Department of Applied Mathematics, Tongji University, Shanghai 200092, China.

E-mail: zzzhhe@tongji.edu.cn

***Project supported by the National Natural Science Foundation of China (No. 10471105, No. 10571135).

Now, we will prove the next lemma.

Lemma 2.1 Suppose $f(t)$ is a C^2 function on $(0, T)$, $\frac{d}{dt}(-f(t)) - \frac{f^2(t)}{2} \geq -\frac{k}{t^2}$, and $\lim_{t \rightarrow 0^+} f(t) = +\infty$. Then

$$f(t) > 0, \quad (2.1)$$

where $k \geq 0$, T can tend to $+\infty$.

Proof We use comparison method to discuss the following inequality.

Assume

$$b_1(t) = \frac{-1 + \sqrt{1+2k}}{2k}t, \quad b_2(t) = \frac{-1 - \sqrt{1+2k}}{2k}t. \quad (2.2)$$

Then

$$\frac{db_i}{dt} + \frac{k}{t^2}b_i^2 - \frac{1}{2} = 0, \quad i = 1, 2 \quad (2.3)$$

and

$$b_1(0) = b_2(0) = 0, \quad (2.4)$$

$$\dot{b}_1(t) = \frac{1}{2} - \frac{k}{t^2}b_1^2 = \frac{-1 + \sqrt{1+2k}}{2k}, \quad (2.5)$$

$$\dot{b}_2(t) = \frac{1}{2} - \frac{k}{t^2}b_2^2 = \frac{-1 - \sqrt{1+2k}}{2k}. \quad (2.6)$$

Let $A = \frac{1}{f(t)}$. Therefore

$$\frac{dA}{dt} + \frac{k}{t^2}A^2 - \frac{1}{2} \geq 0 \quad (2.7)$$

and $A(0) = 0$.

Then

$$\dot{A}(0) \geq \frac{1}{2} - k\dot{A}^2(0), \quad (2.8)$$

i.e., $\dot{A}(0) \geq \dot{b}_1(0)$ or $\dot{A}(0) \leq \dot{b}_2(0)$.

We will prove $\dot{A}(0) \leq \dot{b}_2(0)$ is not valid.

Conversely, if $\dot{A}(0) \leq \dot{b}_2(0) < 0$, we have

$$A(t) = \dot{A}(0)t + O(t^2),$$

and then there exists an ϵ satisfying $0 < \epsilon \leq T$ such that $A(t) < 0$, $\forall t \in (0, \epsilon)$, i.e.,

$$f(t) < 0, \quad \forall t \in (0, \epsilon). \quad (2.9)$$

This is a contradiction to $\lim_{t \rightarrow 0^+} f(t) = +\infty$ which is known.

When $\dot{A}(0) \geq \dot{b}_1(0)$, we will prove $A(t) \geq b_1(t) > 0$, for $t \in [0, T)$.

Let $E = \{t \in (0, T) \mid \dot{A}(t) < \dot{b}_1(t)\}$. If $E = \emptyset$, then $\dot{A}(t) \geq \dot{b}_1(t)$, $\forall t \in [0, T)$, and $A(0) = b_1(0) = 0$. Then $A(t) \geq b_1(t) > 0$, $\forall t \in [0, T)$.

If E is a nonempty open set of $[0, T)$, then $\forall a \in E$, we have $A(a) \geq b_1(a)$. Otherwise, we have

$$\dot{b}_1(a) > \dot{A}(a) \geq \frac{1}{2} - k \frac{A^2}{t^2} \Big|_{t=a} \geq \frac{1}{2} - k \frac{b_1^2}{t^2} \Big|_{t=a}.$$

Obviously, it is impossible.

For any $c \in [0, T] \setminus E$, setting $t_0 = \text{Sup}(E \cap [0, c])$, we have

$$A(c) - b_1(c) = \int_{t_0}^c (\dot{A}(s) - \dot{b}_1(s)) ds + A(t_0) - b_1(t_0).$$

By continuity, $A(t_0) - b_1(t_0) \geq 0$ and $(t_0, c] \subset [0, T] \setminus E$, so that $\dot{A}(s) - \dot{b}_1(s) \geq 0$. Then $A(c) - b_1(c) \geq 0$, i.e., $A(c) \geq b_1(c) > 0$.

Thus $f(t) > 0$, $\forall t \in (0, T)$, i.e.,

$$f(t) > 0, \quad \forall t \in [0, T]. \quad (2.10)$$

3 The Proof of Theorem 1.2

Now we will prove Theorem 1.2.

Proof of Theorem 1.2 A result of Grauert [2] says that a complex manifold which admits a smooth strictly plurisubharmonic exhaustion function is Stein. Next we will prove the square of the distance function satisfies these three conditions.

Firstly, the square of the distance function $r^2(x) = r^2(p, x)$ between p and x is smooth because p is a pole and obviously it is exhausting.

Secondly, we will prove that $r^2(p, x)$ is strictly plurisubharmonic. $\forall x \in M$, there exists a normal geodesic γ_x with the minimal length which issues from p to x . For every nonzero vector $X \in T_x^{(1,0)}(M)$, we have $X = X_1 - \sqrt{-1} JX_1$ such that X_1 is the unit vector of $T_x(M)$. Now we choose a normal basis $\{e_1(x), e_2(x), \dots, e_n(x), e_{n+1}(x), \dots, e_{2n}(x)\} = \{e_1(x), e_2(x), \dots, e_n(x), Je_1(x), \dots, Je_n(x)\}$ on $T_x(M)$, such that $X_1 = e_1(x)$, $JX_1 = e_{n+1}(x)$. And $\{e_i(t)\}_{1 \leq i \leq 2n}$ is the normal basis on $\gamma_x(t)$ that was obtained by the parallel translation of $\{e_i(x)\}_{1 \leq i \leq 2n}$ along $\gamma_x(t)$. Since M is Kähler, the parallel translation preserves the complex structure, so that $J[e_i(t)] = e_{n+i}(t)$, $1 \leq i \leq n$, is valid on $\gamma_x(t)$. We denote by $\{e_i(0)\}_{1 \leq i \leq 2n}$ the parallel vector basis field at $p \in M$. Let $U(\gamma_x)$ be an open neighborhood of γ_x . For any $y \in U(\gamma_x)$, there is a minimal length normal geodesic from p to y . We translate $\{e_i(0)\}_{1 \leq i \leq 2n}$ parallel along γ_y . Then we obtain a normal basis $\{e_i(y)\}_{1 \leq i \leq 2n}$ on $T_y(M)$, $\forall y \in U(\gamma_x)$, such that $Je_i(y) = e_{n+i}(y)$, $1 \leq i \leq n$. Hence $\{e_i(y)\}_{1 \leq i \leq 2n}$, $y \in U(\gamma_x)$, is a normal frame on $U(\gamma_x)$.

Let

$$\begin{aligned} \nabla_{e_i(t)} \dot{\gamma}(t) &= u_{ij}(t) e_j(t), \\ \nabla_{\dot{\gamma}(t)} e_i(t) &= \lambda_{ij}(t) e_j(t) = 0. \end{aligned} \quad (3.1)$$

Then we have

$$\begin{aligned} u_{ij}(t) &= \langle \nabla_{e_i} \dot{\gamma}(t), e_j \rangle = e_i \langle \dot{\gamma}(t), e_j \rangle - \langle \dot{\gamma}(t), \nabla_{e_i} e_j \rangle \\ &= (e_i e_j r) - (\nabla_{e_i} e_j r) = Hr(e_i, e_j) = u_{ji}(t), \end{aligned} \quad (3.2)$$

$$\begin{aligned} \langle R(e_1, \dot{\gamma}(t)) \dot{\gamma}(t), e_1 \rangle &= -\langle \nabla_{\dot{\gamma}(t)} \nabla_{e_1} \dot{\gamma}(t), e_1 \rangle - \langle \nabla_{\nabla_{e_1} \dot{\gamma}(t)} \dot{\gamma}(t), e_1 \rangle + \langle \nabla_{\nabla_{\dot{\gamma}(t)} e_1} \dot{\gamma}(t), e_1 \rangle \\ &= \frac{d}{dt}(-u_{11}) - \sum_j u_{1j} u_{j1} \\ &\leq \frac{d}{dt}(-u_{11}) - u_{11} u_{11}. \end{aligned} \quad (3.3)$$

Similarly, we have

$$\langle R(e_{n+1}, \dot{\gamma}(t))\dot{\gamma}(t), e_{n+1} \rangle \leq \frac{d}{dt}(-u_{n+1,n+1}) - u_{n+1,n+1}u_{n+1,n+1}, \quad (3.4)$$

$$\begin{aligned} -\frac{k}{r^2} &\leq \langle R(e_1, \dot{\gamma}(t))\dot{\gamma}(t), e_1 \rangle + \langle R(e_{n+1}, \dot{\gamma}(t))\dot{\gamma}(t), e_{n+1} \rangle \\ &\leq \frac{d}{dt}(-u_{11} - u_{n+1,n+1}) - \frac{(u_{11} + u_{n+1,n+1})^2}{2}. \end{aligned} \quad (3.5)$$

Assume $f(t) = u_{11} + u_{n+1,n+1}$, and $\lim_{t \rightarrow 0^+} f(t) = +\infty$. By Lemma 2.3 and (3.5), we have

$$D^2r(X_1, X_1) + D^2r(JX_1, JX_1) = Hr(e_1, e_1) + Hr(e_{n+1}, e_{n+1}) > 0. \quad (3.6)$$

And

$$\begin{aligned} &D^2r^2(X_1, X_1) + D^2r^2(JX_1, JX_1) \\ &= 2\left\langle X_1, \frac{\partial}{\partial r} \right\rangle^2 + 2\left\langle JX_1, \frac{\partial}{\partial r} \right\rangle^2 + 2r[D^2r(X_1, X_1) + D^2r(JX_1, JX_1)] \\ &> 0. \end{aligned} \quad (3.7)$$

Because

$$\sqrt{-1}\partial\bar{\partial}r^2(X, \bar{X}) = D^2r^2(X_1, X_1) + D^2r^2(JX_1, JX_1), \quad (3.8)$$

where $X = X_1 - \sqrt{-1}JX_1$, r^2 is strictly plurisubharmonic.

Thus M is a Stein manifold.

Acknowledgement The authors would like to express their gratitude to Professor Xin Yuanlong for many useful discussions.

References

- [1] Ni, L. and Tam, L. F., Plurisubharmonic functions and the structure of complete Kähler manifolds with nonnegative curvature, *J. Diff. Geom.*, **64**, 2003, 457–524.
- [2] Grauert, H., On Levi's problem and the embedding of real-analytic manifolds, *Ann. of Math.*, **68**, 1958, 460–472.